

# **Market Value Summary:**

	Current Period	Year to Date
Beginning Balance	\$80,799,342.09	\$70,411,740.65
Contributions	\$176,000.00	\$10,397,894.06
Withdrawals	(\$880,000.00)	(\$4,390,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$60,385.84	\$208,980.91
Administrative Expense	(\$1,104.66)	(\$6,037.87)
Investment Expense	(\$1,767.04)	(\$16,403.52)
Investment Manager Fees	(\$91.76)	(\$2,774.81)
IFA Loan Repayment	\$0.00	(\$57,443.94)
Adjustment	\$30,278.94	\$30,278.94
Realized Gain/Loss	\$142.14	\$27,673.38
Unrealized Gain/Loss	(\$1,129,388.53)	\$2,449,889.22
Ending Balance	\$79,053,797.02	\$79,053,797.02

# **Performance Summary:**

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	3.17%	09/01/2022

#### DES PLAINES POLICE PENSION FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



### **Market Value Summary:**

	Current Period	Year to Date
Beginning Balance	\$1,555.65	\$88,628.71
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$1,529.22)	(\$92,299.32)
Income	\$6.19	\$113.04
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$31.11)	\$2,853.30
Unrealized Gain/Loss	(\$1.51)	\$704.27
Ending Balance	\$0.00	\$0.00

### **Unit Value Summary:**

	Current Period	Year to Date
Beginning Units	171.444	10,150.644
Unit Purchases from Additions	0.000	1,443.209
Unit Sales from Withdrawals	(171.444)	(11,593.853)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

## **Performance Summary:**

#### DES PLAINES POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/13/2022

#### DES PLAINES POLICE PENSION FUND

Fund Name:

**IPOPIF Pool** 

Month Ended: May 31, 2023



### **Market Value Summary:**

	Current Period	Year to Date
Beginning Balance	\$80,797,786.44	\$70,323,111.94
Contributions	\$176,000.00	\$10,410,556.84
Withdrawals	(\$880,000.00)	(\$4,390,000.00)
Transfers In/Out	\$1,529.22	\$79,861.77
Income	\$60,379.65	\$208,642.64
Administrative Expense	(\$1,104.66)	(\$6,037.87)
Investment Expense	(\$1,767.04)	(\$16,403.52)
Investment Manager Fees	(\$91.76)	(\$2,774.81)
IFA Loan Repayment	\$0.00	(\$57,443.94)
Adjustment	\$30,278.94	\$30,278.94
Realized Gain/Loss	\$173.25	\$24,820.08
Unrealized Gain/Loss	(\$1,129,387.02)	\$2,449,184.95
Ending Balance	\$79,053,797.02	\$79,053,797.02

### **Unit Value Summary:**

	Current Period	Year to Date
Beginning Units	8,104,028.126	7,415,025.530
Unit Purchases from Additions	21,084.151	1,067,482.137
Unit Sales from Withdrawals	(88,642.124)	(446,037.514)
Ending Units	8,036,470.154	8,036,470.154
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

# **Performance Summary:**

#### DES PLAINES POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.08%	09/23/2022

## **Statement of Transaction Detail for the Month Ending 05/31/2023**

### **DES PLAINES POLICE PENSION FUND**

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(1,529.22)	8.919671	(171.4438)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	30,278.94	9.970077	3,036.9816
05/12/2023	05/15/2023	Redemptions	(5,000.00)	9.927560	(503.6484)
05/12/2023	05/15/2023	Redemptions	(875,000.00)	9.927560	(88,138.4751)
05/24/2023	05/25/2023	Contribution	176,000.00	9.837097	17,891.4572
05/25/2023	05/26/2023	Transfers In	1,529.22	9.820810	155.7122